A

WAGNER

GA2805EA

IF20005A

HP @RS 10
¥ wsl0:49
HRpupl:y

16
clejeg \ i €
ff/f’%@m %@

’ €8

28
18
08

2024.02

T - P = AN AL (e IR /Y o/ S B

Ik -



GA2805EA

A
WAGNER

fIAk - dn - MRS T ERKER T 2ENHYET,

2

POS S B JEAT S
1 350507  |awr /7 1 30,600
2 9994248 (27 Vo 1 1,500|~21 >
3 350300  |fRERANTL T TN — 1 30,600
4 350108 |/ 7 Ewh 1 240,000
4-1 350324 |3\ T o RYT 4 — €)) 13,100
4-2 350354 | AU HAR (1) 11,300
4-3 350508 |37 mok (1) 8,700
4-4 9998040 (A7 (1) 2,000
4-5 350321  |E°Ab (1) 24,200
4-6 350388  |E"RARLSy%L (1) 7,700
4-7 179339  [F_obhyfr O (1) 4,500
4-8 350323  |Jwh (1) 6,000
4-9 179342 [RIEB/ Sz (1) 11,100
4-10 350505  |HIB/ S O 5,900
4-11 9971182 (O UL O 520[4 x 1
4-12 179343  [2F AN (1) 5,900
4-13 353351 |Urv (1) 10,600
4-14 353352 |\ TOyRTIAT LY ay (1) 20,700
4-15 350903 |\ LT =—RLtEvb (1) 71,900
4-16 179409 [ X IRAT VT (1) 2,900
4-17 350902  |=—K/LtEvh (1) 17,300
350910  |H—bERAEvh O 7,500
5 350224 | 1 70,200
6 9907007 [ IAFARLK 2 990[M6 X 110
7 9920118 [#V v ¥ — 2 5407 X 12 X 1.5
8 9971164 [0V 1 690[28 X 1.5
10 9974009 |[v—ojwFx 1 6,500[10.2 X 2.62
11 9971372 |[OVvr 1 540(8 X 2
12 350302 |TFAANE 2—HZ— 1 6,900
13 9974010 |0V 1 75024 X 2
14 350303 | A3 — 1 17,800
15 9971147 |OVv 1 960|7 X 1 /AR
16 9925002 (A F > VL 1 750(34 X 1
17 9974008 [0V 2 1,200(63.22 X 1.78
18 350118 | WA —K 1 380,000|Pos.17,21,22,23 {5+
19 9900743 [T vEIFH/NAAL 1 640[M4 X 60
20 9920130 [Tyl y— 1 190]4.5 X 9.0 X 1.0
21 9971003 |0V 3 290(6 X 1
22 350385  |=v L 1 3,700
23 9971442 |0V 1 6906 X 1.6
24 350256 |~y RS 1 95,500
25 9971313 |0V 2 640[12 X 2
26 350368  |EBLH—ULT 1 5,900
27 350340 |~ AL BAY—T 1 21,000
30 179415  |[v—n % 1 7,100
31 179186 |[hv 7 r—2A 1 250,000
32 353358 |7 HYT AN (1) 8,800
33 350392  |=—FRA%wF 1) 8,500
34 350393 | —UL T AT a— (1) 8,600
35 350904 |/ L7 —b 1 29,000
36 179553 [ =0 20T via 1 1,200
37 9904407 | ANFNNT TS 1 250|R1/4
40 350305 |2 —VULZARILE 2 6,900
LEF20005A-1

2024.02




GA2805EA

A
WAGNER

POS EES RES B FEAM %5

41 350243 [vr—jox 2 7,700

42 350351 |[Fwi s (2) 5,900

43 350308  [/{wF L RY—T (2) 2,500

45 350319  [AAS—H— 2 3,700

46 9900318 | /ASHA ARV 2 360[M8 x 20

47 350309 |7 /rvb 1 9,600

48 350369 |[Amw LB 1 4,600

50 350214  |=7—FHE Bk 1 29,000

51 9913002 | wh 1) 450|M3

52 350344 |[FL—h (1) 3,400

53 9998041 |FWIE /7 (1) 6,500

54 350342 |=v 7L (1) 7,300

55 350341 |7 —arhE—3 LT (1) 13,100

56 9971319 |0 V¥ (1) 1,100[5 X 1.5

57 9992103 |mARzZ=FA> 1 2,900{R1/4M X (8-6)B {14
9992103 |T/Ra=FAr 2 2,900|R1/4M X (8-6)C {1kk

58 350312 [t 1 3,400|C fHAf
9903019 |/ IEDHRAL 2 360[M6 X 12

59 9900810 [ vEIfH/ AL 2 450[M2 X 4

60 350617 |R—A7L—F 1

61 350252 |IKEIEr—7 v 1 76,500|11m A 4%
350407 |[KELEr—T L 1 45,100[0.15m B {HEE

62 350326 |75 T ALY 2— 1 11,300

63 179367 |ZmAvh 1 1,200

64 179369 |yl y— 1 1,600

65 9990829 |AY—7 1 4,600

66 9922102 AT p— 2 170|A3.2

67 9903306  |+F- At E Al 2 220|M3 X 8

68 2103559 |/N—Ta=FL 1 1,800|R1/4M X ( ¢ 8- ¢ 6)

69 2103560 |/N—Tz=AL 1 650|R1/4M X ¢ 10A {H4E

(37) 9904407 | NN TTS (1) 250|R1/4

70 9910508 |mw 2wk 1 2,500

71 9902505 |AkyFAR/LE 1 2,500

72 9971142 |0 Vv 1 540/10 X 1.3

73 353362 |[A—AYaA b 1 12,700

74 353350 |AY—7 1 6,900

75 9998290 |AY—7 (1) 750

76 9913015 |F vk (1) 1,200

77 350600  |[IEARPUHEEIR—A 1 56,000{ ¢ 10 X ¢ 6 X 15m
9987050  [EHSHTH BB —A 4,700/ ¢ 10 X ¢ 6 X 1lm H
179787  |[IRIRPUHEB B —A 32,000| ¢ 10 X ¢ 6 X 7.5m

78 350346 |K—AT 4T 4T 1 14,000|R3/8F X (10-6)
350382 |K—AT4vTF 4 1 14,000|R1/4F X (10-6)

80 363238 |[FkE/ALEvh 1 84,600

81 353965 |/ AXNVARTF ¢ (1) 41,700

82 353952  |[HLMkE /AL (1) 38,500

83 353966 |/ AT b (1) 46,400

90 363231  |ERRE ALk 1.2mm 1 110,000|7%%

91 353955  [FEIRE /AL 1.2mm 6)) 26,700|#%

92 353960 |=7—F+¥> 7 1.2mm (1) 71,200(%%

93 353967  |TFEMRE/AXLFwh (1) 22,700
353210  |[FoF ¥ — 24,200
353805 |/l Fa— 22,700

Ik -

T - P = AN AL (e IR /Y o/ S B

3

LF20005A-2
2024.02



